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Name:

Add to find the sums. Then solve 
the riddle by matching the 
letters to the blank lines below. 

4-Digit Addition (regrouping)

Why did the cookie go to the doctor?

5,312 15,757 8,110

5,645 16,085 7,346 8,329 7,988 11,572

11,099 12,230

10,274 15,827 11,690 8,857 11,440 11,555 7,027

 4,5 6 7
+ 7,1 2 3

E  3,2 1 3
+ 2,0 9 9

I  5,6 7 8
+ 5,4 2 1

A

 9,5 4 2
+ 6,5 4 3

R  3,2 1 2
+ 9,0 1 8

S 6,0 0 1
+ 1,3 4 5

U  8,0 9 2
+   7 6 5

L  2,6 7 7
+ 5,3 1 1

M

 9,2 3 4
+ 6,5 2 3

T  4 ,3 3 8
+ 7,2 3 4

Y 5,8 7 6
+ 2,4 5 3

M  5,2 3 4
+ 6,3 2 1

N  6 ,8 2 1
+ 3,4 5 3

F

 1,3 2 4
+ 4,3 2 1

C  9,2 9 4
+ 6,5 3 3

E  5,4 3 2
+ 2,6 7 8

W  5,7 2 0
+ 5,7 2 0

I  2,0 0 8
+ 5,0 1 9

G



ANSWER KEY 4-Digit Addition (regrouping)
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Add to find the sums. Then solve 
the riddle by matching the 
letters to the blank lines below. 

Why did the cookie go to the doctor?

5,312 15,757 8,110

5,645 16,085 7,346 8,329 7,988 11,572

11,099 12,230

10,274 15,827 11,690 8,857 11,440 11,555 7,027

 4,5 6 7
+ 7,1 2 3
1 1,6 9 0

E  3,2 1 3
+ 2,0 9 9

5,3 1 2

I  5,6 7 8
+ 5,4 2 1
1 1,0 9 9

A

 9,5 4 2
+ 6,5 4 3
1 6,0 8 5

R  3,2 1 2
+ 9,0 1 8
1 2,2 3 0

S 6,0 0 1
+ 1,3 4 5

7,3 4 6

U  8,0 9 2
+   7 6 5

8,8 5 7

L  2,6 7 7
+ 5,3 1 1

7,9 8 8

M

 9,2 3 4
+ 6,5 2 3
1 5,7 5 7

T  4 ,3 3 8
+ 7,2 3 4
1 1,5 7 2

Y 5,8 7 6
+ 2,4 5 3

8,3 2 9

M  5,2 3 4
+ 6,3 2 1
1 1,5 5 5

N  6 ,8 2 1
+ 3,4 5 3
1 0,2 7 4

F

 1,3 2 4
+ 4,3 2 1

5,6 4 5

C

I T

F E E L I N

C R U M M Y

G

W A S

 9,2 9 4
+ 6,5 3 3
1 5,8 2 7

E  5,4 3 2
+ 2,6 7 8

8,1 1 0

W  5,7 2 0
+ 5,7 2 0
1 1,4 4 0

I  2,0 0 8
+ 5,0 1 9

7,0 2 7

G


